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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
701614 50600 201420
2.
3.
4,
5.
5) 6)
6.
101396 201620 701630
7.
8.
9.
10.
8) 9)
11.
90[435 10211 50(324
12.
11) 12)
20(740 901693 70(770
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 8154 2) 12 3) 21 ) 854
70614 50[600 20[420 |
0 0 0 ) 12
61 60 42
0 50 40 3 21
614 100 20 . 3916
560 100 20
54 0 0 5, 31
4) 3916 5) 31 6) 9 A 9
10[396 20620 70[630 |
0 0 0 . 4r75
39 62 63
30 60 0 8. 21rl
96 20 630 . 6r24
90 20 630
6 0 0 0 37
7 4175 8 21r1 2 624 W 7163
90[435 10211 50(324 |
0 0 0 12 11
43 21 32
0 20 0
435 11 324
360 10 300
75 1 24
10) 37 19 7163 12) 11
20[740 90[693 70770
0 0 0
74 69 77
60 0 70
140 693 70
140 630 70
) 63 0
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C:h Vertical Division

Name:
Solve each problem. Answers
12 31 6r24
39 16 21r1 4 r75 1
8 r54 21 9
1) 2) 3 g
70614 50600 201420 3
4.
5.
6.
7.
8.
4) 5) 6)
10(396 201620 701630 9.
7) 8) 9
90435 10211 501324
M odified 1-9 [89]78]67]56]44[33[22[11] 0 |
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